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Instructions for Candidates
Attempt any four questions. All questions carry equal marks.

Q1. “Financial Management is concerned with solution of three major decisions- the investment
decision, the financing decision and the dividend decision”. Explain the statement highlighting
the inter-relationship amongst these decisions.

Also advise Mr. X that if he borrows from Bank an amount of Rs. 12,00,000 @ 10% p.a. on 1-4-
2020. The repayment is to be made in 6 equal annual installment starting from three years from
now. What would be the amount of each installment?

Q2. XYZ Ltd. Is considering the proposal of buying one of the two machines to manufactures a
new product. Each of these machines requires an investment of Rs. 50,000 and is expected to
provide benefits over a period of 4 years. After the expiry of the useful life of the machine, the
seller of both the machines have guaranteed to buy back the machine at Rs. 5,000. The
management of the company uses CE Approach to evaluate risky investment. The company’s
risk adjusted discount rate is 16% and the risk free rate is 10%. The expected values of the net
cash flow (CFAT) with their respective CE are:

Proposal A Proposal B
Year CFAT CE CFAT CE
1 30,000 0.8 18,000 0.9
2 30,000 0.7 36,000 0.8
3 30,000 0.6 24,000 0.7
4 30,000 0.5 32,000 0.4

Which machine, if either, should be purchased by the company? Is Certainty Equivalent
Approach theoretically superior to the Risk Adjusted Discount Rate?



Q3. Give a critical appraisal of Modigliani and Miller Approach to the theory of capital structure.

The two companies U and L belong to the same risk class. They have everything in
common except that firm L has 12% debentures of Rs. 10,00,000. The following
information about the two firms is available to you:

Particulars Firm U Firm L

Net operating Rs. 4,00,000 Rs. 4,00,000
income(EBIT)

12% Debentures Rs. 10,00,000

Equity capitalization rate(ke) 0.15 0.16

Calculate the value of two firms and explain how under Modigliani — Miller approach an
investor who owns 10% equity shares of the overvalued firm will be better off switching
his holdings to the other firm. Also explain when arbitrage process will come to an end.

Q4. How is the cost of capital relevant in capital budgeting decisions? Also discuss the factors
affecting cost of capital.

A company has the following capital structure :

Particulars Book Value Market Value
Equity Capital(30,000 3,00,000 4,80,000
shares of Rs. 10 each)

Preference capital (600 60,000 70,000

shares of Rs. 100 each
carrying 12% dividend)

Reserves and Surplus 1,50,000 -

Debentures (2000 2,00,000 1,90,000
debentures of Rs. 100 each
carrying 12% interest)

7,10,000 7,40,000

The expected dividend per share is Rs. 1.50 and the dividend per share is expected to grow at a
rate of 8 per cent forever. Preference shares are redeemable after 5 years at par whereas
debentures are redeemable after 6 years at par. The tax rate for the company is 50 per cent.

You are required to compute the weighted average cost of capital (WACC) using market value
weights.

Q5. Radiant Corporation, a market leader dealing in refrigeration products, has been paying
dividend consistently over last several years The growth rate of dividend on an average has
been 12%. The capitalisation rate of Radiant Corporation is 16%.

Consistent with its developmental philosophy Radiant Corporation acquired a technology for
a new refrigerant that called for huge investment but offered a market potential of growth of
14% in earnings and dividends as well.



The management decided to skip the dividend for next three years However, as a measure of
good corporate governance and to reassure the investors it announced that the dividend would
re-commence in 4 years from now at Rs. 12 only and would offer better growth of 14% instead
of 12%. What do you think would the impact on the price of shares of Radiant Corporation in
the market of the announcement of new project and resultant postponement of dividend,
assuming Gordon Assumptions?

In this context, “Do you agree that dividend policy can be used to maximize the wealth
position of equity holders” Explain with reference to the determinant of dividend policy.

Q6. “The efficiency of cash management depends on how efficiently the firm manages
its inventory and Receivables” Comment.

Transient Ltd is currently operating at the 65% capacity utilization level with its sales
pegged at Rs. 950 lakhs. As per its current credit policy the firm is offering a credit
period of 20 days. The average collection period for Transient Ltd is 30 days. In view of
increased competition that has started to erode its bottom-line recently, the firm's
management has been contemplating relaxing its credit terms. As per management's
projections such a liberalization of firm's credit policy is likely to boost its sales by
30%.However, since the proposed change is likely to increase the average credit period
for the firm by 30 days, one section of company management is opposed to such a
change proposed in the credit policy and is advocating a status quo. The variable costs
for the firm are 75% of the sales and the fixed cost is Rs.100 lakhs. Are you in favor of
such a change proposed in the firm's credit policy? Assume the opportunity cost of
capital for Transient Ltd is 12%.
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Instructions for Candidates

Note: Answers may be written either in English or in Hindi, but the same medium should be

used throughout the paper.
Attempt any fours questions.
All questions carry equal marks.

Q 1. An automobile firm believes in relationship marketing, designs its marketing mix in an
integrated manner, works together with all departments and looks at marketing in terms of
performance. Which philosophy of marketing is practiced by the firm? Discuss the marketing

philosophies that have evolved over the years.

Q 2. Market orientation requires that companies, instead of competing everywhere, should
focus on meeting needs of specific customers as there is an old saying, “One cannot be
everything to everyone, but can be everything to a selected few.” In the light of this
statement, explain the concept of market segmentation and suggest suitable ways of

segmenting the market for cosmetics and mobile phones.

Q 3. ‘The success or failure of a business depends upon the product’s pricing policy.” Explain
this statement in the light of factors that are to be considered while formulating an effective

pricing policy for a firm.



Q 4. If you happen to be a promotion manager of a leading chain of fine dining restaurant
which is planning to open a new restaurant in Delhi-NCR, what promotion-mix would you

suggest?

Q 5. A company is planning to manufacture electric vehicles for sale in the Indian market
which requires a well-developed strategy to be successful in the long run. Prepare a

sustainable strategy for the development of this new product in the present scenario.

Q 6. An airline is planning to launch new flights to multiple destinations in India and abroad
post pandemic, suggest an appropriate services marketing mix strategy to their marketing

team that will help the firm to achieve company’s objectives.
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Instructions for Candidates
Attempt any four questions. All questions carry equal marks.

Q1. “Financial Management is concerned with solution of three major decisions- the investment
decision, the financing decision and the dividend decision”. Explain the statement highlighting
the inter-relationship amongst these decisions.

Also advise Mr. X that if he borrows from Bank an amount of Rs. 12,00,000 @ 10% p.a. on 1-4-
2020. The repayment is to be made in 6 equal annual installment starting from three years from
now. What would be the amount of each installment?

Q2. XYZ Ltd. Is considering the proposal of buying one of the two machines to manufactures a
new product. Each of these machines requires an investment of Rs. 50,000 and is expected to
provide benefits over a period of 4 years. After the expiry of the useful life of the machine, the
seller of both the machines have guaranteed to buy back the machine at Rs. 5,000. The
management of the company uses CE Approach to evaluate risky investment. The company’s
risk adjusted discount rate is 16% and the risk free rate is 10%. The expected values of the net
cash flow (CFAT) with their respective CE are:

Proposal A Proposal B
Year CFAT CE CFAT CE
1 30,000 0.8 18,000 0.9
2 30,000 0.7 36,000 0.8
3 30,000 0.6 24,000 0.7
4 30,000 0.5 32,000 0.4

Which machine, if either, should be purchased by the company? Is Certainty Equivalent
Approach theoretically superior to the Risk Adjusted Discount Rate?



Q3. Give a critical appraisal of Modigliani and Miller Approach to the theory of capital structure.

The two companies U and L belong to the same risk class. They have everything in
common except that firm L has 12% debentures of Rs. 10,00,000. The following
information about the two firms is available to you:

Particulars Firm U Firm L

Net operating Rs. 4,00,000 Rs. 4,00,000
income(EBIT)

12% Debentures Rs. 10,00,000

Equity capitalization rate(ke) 0.15 0.16

Calculate the value of two firms and explain how under Modigliani — Miller approach an
investor who owns 10% equity shares of the overvalued firm will be better off switching
his holdings to the other firm. Also explain when arbitrage process will come to an end.

Q4. How is the cost of capital relevant in capital budgeting decisions? Also discuss the factors
affecting cost of capital.

A company has the following capital structure :

Particulars Book Value Market Value
Equity Capital(30,000 3,00,000 4,80,000
shares of Rs. 10 each)

Preference capital (600 60,000 70,000

shares of Rs. 100 each
carrying 12% dividend)

Reserves and Surplus 1,50,000 -

Debentures (2000 2,00,000 1,90,000
debentures of Rs. 100 each
carrying 12% interest)

7,10,000 7,40,000

The expected dividend per share is Rs. 1.50 and the dividend per share is expected to grow at a
rate of 8 per cent forever. Preference shares are redeemable after 5 years at par whereas
debentures are redeemable after 6 years at par. The tax rate for the company is 50 per cent.

You are required to compute the weighted average cost of capital (WACC) using market value
weights.

Q5. Radiant Corporation, a market leader dealing in refrigeration products, has been paying
dividend consistently over last several years The growth rate of dividend on an average has
been 12%. The capitalisation rate of Radiant Corporation is 16%.

Consistent with its developmental philosophy Radiant Corporation acquired a technology for
a new refrigerant that called for huge investment but offered a market potential of growth of
14% in earnings and dividends as well.



The management decided to skip the dividend for next three years However, as a measure of
good corporate governance and to reassure the investors it announced that the dividend would
re-commence in 4 years from now at Rs. 12 only and would offer better growth of 14% instead
of 12%. What do you think would the impact on the price of shares of Radiant Corporation in
the market of the announcement of new project and resultant postponement of dividend,
assuming Gordon Assumptions?

In this context, “Do you agree that dividend policy can be used to maximize the wealth
position of equity holders” Explain with reference to the determinant of dividend policy.

Q6. “The efficiency of cash management depends on how efficiently the firm manages
its inventory and Receivables” Comment.

Transient Ltd is currently operating at the 65% capacity utilization level with its sales
pegged at Rs. 950 lakhs. As per its current credit policy the firm is offering a credit
period of 20 days. The average collection period for Transient Ltd is 30 days. In view of
increased competition that has started to erode its bottom-line recently, the firm's
management has been contemplating relaxing its credit terms. As per management's
projections such a liberalization of firm's credit policy is likely to boost its sales by
30%.However, since the proposed change is likely to increase the average credit period
for the firm by 30 days, one section of company management is opposed to such a
change proposed in the credit policy and is advocating a status quo. The variable costs
for the firm are 75% of the sales and the fixed cost is Rs.100 lakhs. Are you in favor of
such a change proposed in the firm's credit policy? Assume the opportunity cost of
capital for Transient Ltd is 12%.
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Instructions for Candidates

1. Answer any four questions.
2. All questions carry equal marks.
3. Answers may be written either in English or Hindi, but the same

medium should be used throughout the paper.
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Attempt total four questions. All questions carry equal marks.
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Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.
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Q1. Do you agree with Kojeve’s “revolutionary” interpretation of Hegel’s Master-Slave
dialectic in Phenomenology of Spirit? Discuss.

HTcAT T ATl H §aTeT GarT TiaTiee Aifeteh-I[elle fdaror &I wista
o7 Shifdeh T SATEAT &l g1 HUel [N eFerdd ShifaTT]|

Q.2 “... in his nascent state, man is never simply man. He is always necessarily and
essentially, either ‘Master’ or ‘Slave’. \

“... YT AT IaEAT H HJsT w3l off el HJsT w1gT A 3Ty 3R
HiAar §9 & Alfcleh IT Il §1“ Hiola ganr e r {fFr &1 o= &
HesT & feoqoly Hifaw|

Q.3. What does Heidegger mean by “having a free relation to technology?” Explain.

AR & Y TadT Y  geSIR &1 AT ATRYT g 2 T HifAU]

Q.4. How does “The Look” illustrate interpersonal relations? Do you agree with this
perspective? Comment.

T FqF HeR-dGidds FFaeul I fhH G GAar §? FAT 319 38 Tioehor §
qgAd g ? feouoh fifsv)

Q.5. Merleau-Ponty famously observed, “the great lesson of reduction is the impossibility of
complete reduction?” What did he mean by this statement? Elucidate.

FI-UIET T Toh TRy 37hd §- “TgFIOT FT Ageaqol Had ¢ qOT TLHIOT HT
AT 39 FUT H 30T 47 ATHURT AT, TS HITAT|

Q.6. How does Merleau-Ponty differentiate his phenomenology from Edmund Husserl’s?
Discuss.

ﬂ@-ﬁﬁ,u@g@#ﬁmmﬁmﬁﬁmwgﬁm%?w
o]



Unique Paper Code : 22411502

Name of the Paper  : Fundamentals of Financial Management
Name of the Course : B.Com. (H) - CBCS

Semester 'V

Duration : 3 hours

Maximum Marks . 75 Marks

Instructions for Candidates
Attempt any four questions. All questions carry equal marks.

Q1. “Financial Management is concerned with solution of three major decisions- the investment
decision, the financing decision and the dividend decision”. Explain the statement highlighting
the inter-relationship amongst these decisions.

Also advise Mr. X that if he borrows from Bank an amount of Rs. 12,00,000 @ 10% p.a. on 1-4-
2020. The repayment is to be made in 6 equal annual installment starting from three years from
now. What would be the amount of each installment?

Q2. XYZ Ltd. Is considering the proposal of buying one of the two machines to manufactures a
new product. Each of these machines requires an investment of Rs. 50,000 and is expected to
provide benefits over a period of 4 years. After the expiry of the useful life of the machine, the
seller of both the machines have guaranteed to buy back the machine at Rs. 5,000. The
management of the company uses CE Approach to evaluate risky investment. The company’s
risk adjusted discount rate is 16% and the risk free rate is 10%. The expected values of the net
cash flow (CFAT) with their respective CE are:

Proposal A Proposal B
Year CFAT CE CFAT CE
1 30,000 0.8 18,000 0.9
2 30,000 0.7 36,000 0.8
3 30,000 0.6 24,000 0.7
4 30,000 0.5 32,000 0.4

Which machine, if either, should be purchased by the company? Is Certainty Equivalent
Approach theoretically superior to the Risk Adjusted Discount Rate?



Q3. Give a critical appraisal of Modigliani and Miller Approach to the theory of capital structure.

The two companies U and L belong to the same risk class. They have everything in
common except that firm L has 12% debentures of Rs. 10,00,000. The following
information about the two firms is available to you:

Particulars Firm U Firm L

Net operating Rs. 4,00,000 Rs. 4,00,000
income(EBIT)

12% Debentures Rs. 10,00,000

Equity capitalization rate(ke) 0.15 0.16

Calculate the value of two firms and explain how under Modigliani — Miller approach an
investor who owns 10% equity shares of the overvalued firm will be better off switching
his holdings to the other firm. Also explain when arbitrage process will come to an end.

Q4. How is the cost of capital relevant in capital budgeting decisions? Also discuss the factors
affecting cost of capital.

A company has the following capital structure :

Particulars Book Value Market Value
Equity Capital(30,000 3,00,000 4,80,000
shares of Rs. 10 each)

Preference capital (600 60,000 70,000

shares of Rs. 100 each
carrying 12% dividend)

Reserves and Surplus 1,50,000 -

Debentures (2000 2,00,000 1,90,000
debentures of Rs. 100 each
carrying 12% interest)

7,10,000 7,40,000

The expected dividend per share is Rs. 1.50 and the dividend per share is expected to grow at a
rate of 8 per cent forever. Preference shares are redeemable after 5 years at par whereas
debentures are redeemable after 6 years at par. The tax rate for the company is 50 per cent.

You are required to compute the weighted average cost of capital (WACC) using market value
weights.

Q5. Radiant Corporation, a market leader dealing in refrigeration products, has been paying
dividend consistently over last several years The growth rate of dividend on an average has
been 12%. The capitalisation rate of Radiant Corporation is 16%.

Consistent with its developmental philosophy Radiant Corporation acquired a technology for
a new refrigerant that called for huge investment but offered a market potential of growth of
14% in earnings and dividends as well.



The management decided to skip the dividend for next three years However, as a measure of
good corporate governance and to reassure the investors it announced that the dividend would
re-commence in 4 years from now at Rs. 12 only and would offer better growth of 14% instead
of 12%. What do you think would the impact on the price of shares of Radiant Corporation in
the market of the announcement of new project and resultant postponement of dividend,
assuming Gordon Assumptions?

In this context, “Do you agree that dividend policy can be used to maximize the wealth
position of equity holders” Explain with reference to the determinant of dividend policy.

Q6. “The efficiency of cash management depends on how efficiently the firm manages
its inventory and Receivables” Comment.

Transient Ltd is currently operating at the 65% capacity utilization level with its sales
pegged at Rs. 950 lakhs. As per its current credit policy the firm is offering a credit
period of 20 days. The average collection period for Transient Ltd is 30 days. In view of
increased competition that has started to erode its bottom-line recently, the firm's
management has been contemplating relaxing its credit terms. As per management's
projections such a liberalization of firm's credit policy is likely to boost its sales by
30%.However, since the proposed change is likely to increase the average credit period
for the firm by 30 days, one section of company management is opposed to such a
change proposed in the credit policy and is advocating a status quo. The variable costs
for the firm are 75% of the sales and the fixed cost is Rs.100 lakhs. Are you in favor of
such a change proposed in the firm's credit policy? Assume the opportunity cost of
capital for Transient Ltd is 12%.
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Instructions for Candidates

Note: Answers may be written either in English or in Hindi, but the same medium should be

used throughout the paper.
Attempt any fours questions.
All questions carry equal marks.

Q 1. An automobile firm believes in relationship marketing, designs its marketing mix in an
integrated manner, works together with all departments and looks at marketing in terms of
performance. Which philosophy of marketing is practiced by the firm? Discuss the marketing

philosophies that have evolved over the years.

Q 2. Market orientation requires that companies, instead of competing everywhere, should
focus on meeting needs of specific customers as there is an old saying, “One cannot be
everything to everyone, but can be everything to a selected few.” In the light of this
statement, explain the concept of market segmentation and suggest suitable ways of

segmenting the market for cosmetics and mobile phones.

Q 3. ‘The success or failure of a business depends upon the product’s pricing policy.” Explain
this statement in the light of factors that are to be considered while formulating an effective

pricing policy for a firm.



Q 4. If you happen to be a promotion manager of a leading chain of fine dining restaurant
which is planning to open a new restaurant in Delhi-NCR, what promotion-mix would you

suggest?

Q 5. A company is planning to manufacture electric vehicles for sale in the Indian market
which requires a well-developed strategy to be successful in the long run. Prepare a

sustainable strategy for the development of this new product in the present scenario.

Q 6. An airline is planning to launch new flights to multiple destinations in India and abroad
post pandemic, suggest an appropriate services marketing mix strategy to their marketing

team that will help the firm to achieve company’s objectives.
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1. Critically examine the public service broadcasting in India while comparing it with
the BBC model.

Explain the structure, function and working of a private broadcast channel.

3. Explain the characteristics of soap opera as a genre. Briefly describe its evolution in
Indian television industry with relevant examples.

Examine the role of Participatory Video in the development communication process.
Private broadcasting networks should have a responsibility towards public good.
Critically analyze.

6. Explain the various elements deployed in a Radio Magazine.
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SETA

1. “Management accounting collect, analyzes and presents the accounting and other information
in such a way as to assist the management in the creation of policy and in the day-to-day

operations of an undertaking.” Elucidate.

2. The Budget manager of a company is preparing a flexible budget for the coming accounting
year. The company produces a single product. The following information is provided:

Direct material costs Rs.28 per unit. Direct labour averages Rs.12.50 per hour and requires
1.60 hours to produce one unit of the product. Salesmen are paid a commission of Rs.5 per

unit sold. Fixed selling and administration expenses amount to Rs.3,75,000 per year.

Manufacturing overhead has been estimated in the following amounts under given conditions

of volume:
Volume of production & Sale (units) 1,20,000 1,50,000
Expenses Rs. Rs.
Indirect materials 2,64,000 3,30,000
Indirect labour 1,50,000 1,87,500
Inspection 90,000 1,12,500
Maintenance 84,000 1,02,000
Supervision 1,98,000 2,34,000
Depreciation- plant & equipment 90,000 90,000
Engineering services 94,000 94,000
Total manufacturing overhead 9,70,000 11,50,000

Prepare a budget of total cost at 1,40,000 units of output.



3. SP Limited produces a single product and standard costing system is followed in the
organization. The standard cost card of the product shows the following cost per unit:

Particulars Rs.
Direct materials (10 kg. @ Rs. 4 per kg) 40
Direct labour (8 hours @ Rs. 8 per hour) 64
Variable Overhead (8 hours @ Rs. 3 per hour 24
Fixed Overhead ( 8 hours @ Rs.3 per hour) 24

Budgeted and actual data for the third quarter of a year was as follows:

Particulars Budgeted Actual
Production and Sale 2,000 units 1,800 units
Direct Materials 20,000 Kg.@ Rs.4 per Kg | 20,500 Kg.@ Rs.4.50 per
Kg

Direct Labour 16,000 hours @Rs.8 per hour 14,800 hours @Rs.9 per
hour

Variable Overheads Rs. 96,000 Rs. 88,800
Fixed overheads Rs. 48,000 Rs. 42,800

You are required to calculate:
(i) Material Price Variance
(i) Material Usage Variance
(iii) Labour Rate Variance
(iv) Labour Efficiency Variance
(v) Variable Overhead Cost Variance
(vi) Fixed Overhead Cost Variance

4. A company is producing an identical product in two factories. The following are the details
in respect of two factories:

Particulars Factory X | Factory Y
Selling price per unit (Rs) 50 50
Variable cost per unit (Rs) 40 35
Fixed cost (Rs) 2,00,000 3,00,000
Depreciation included in the above fixed cost(Rs) 40,000 30,000



mailto:Kg.@%20Rs

Sales in units 30,000

40,000

20,000
30,000

Production capacity in units

You are required to determine:
(i) Break Even Point(BEP) in units for each factory individually
(if) Cash break even point in units for each factory individually
(iii) BEP of the company as a whole assuming that present product mix is in sales ratio.
(iv) Consequences on profit and BEP if product mix is changed to 2:3 while total sales in
units remains the same.

SR Steel Company produces three grades of steel — super, good and normal. Each of these
three grades of steel are high in demand and the company is able to sell whatever is
produced.

The furnace operation which is part of overall process operations is a bottle-neck. The
company is operating at 100% capacity. The variable conversion cost per unit is at Rs.100
per process hour. The fixed cost is Rs.48,00,000. In addition, the Cost Accountant was able
to extract the following information about the three grades of steel.

Product Super Good Normal

Budgeted Production (units) 6,000 6,000 6,000
Process hours per unit 12 12 10
Furnace hours per unit 6 5 4
Selling price per unit (Rs.) 3,600 3,400 3,000
Direct Materials cost per unit (Rs.) 2,100 1,900 Rs.1,720

Required:

(i) Determine the contribution margin per unit

(i) Present an analysis to management showing the relative profitability of three grades

of steel, assuming furnace is a bottle-neck.
(iif) Management wishes to improve profitability by increasing the price of selected

products. At what price should company offer super and good grades of steel so as to

bring their relative profitability equal to normal grade of steel.

Explain the following statements:

(i) Responsibility accounting is an important device for control.
(if) Performance of a division can be measured on number of criteria.
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should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.
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Explain the Savarna, Anunasika, it and Pada Sangyas with examples.

2. ‘g W AT A T FTE A

Explain the ‘Vowel-Sandhi’ with the Sutras.
3. HTH & qRATUT FXd gU ‘Geg AT & TATod Tah GIE1g0 (= iy |
Describe the ‘Dwandwa-Samas’ with examples and Sutras by defining the compound.

4. FAAAR AT H TACAT TAH FIETEL TTL T T |
Describe the ‘Kritya-Pratyaya’ with examples and Sutras.

5. ‘TgAlig THTE &A@ Tash AIGTEL fda=d Hify |

Describe ‘bahuvrihi-Samas’ with examples and Sutras.
6. ‘Faent afeer 9% v e forfer |

Write an essay on ‘Visarg Sandhi’.
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3. Answer may be written either in English or in Hindi but the same medium should be used
throughout the paper.
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4. All questions carry equal marks.

T T % 37 qH B




Set A

Q.1. Discuss the relevance of objectivity in social research.
9. WA THYT H ASTeTdr & Jdfehal W Tl H|

Q.2. Explain with examples the difference between quantitative and qualitative research
methods.

. 3eTex0ll & A1 HAHTcH AT JOTcHS ITaere faftrat & dier 3T S gAssT|

Q.3. Discuss the emergence of reflexive sociology.

J. Wade GATSIET & 3¢d U IdT |

Q.4. Examine the significance of comparative method in sociology.

9. HATSIATET H JefallcHh Al & Hged 1 a&Tor |

Q.5. Describe the interrelationship between theory and research with suitable examples.
9. 3Ugerd 3eTeXvil & AT i 3R TaeTeT o srel JAHeTEr T qulel |

Q.6. Analyze the significance of feminist method.
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SET A

Write an essay on Marx’s materialist conception of history.

ATy 1 sfagra & Afasdrard sraeron w v fAey fod |

Explain the relationship between wage labour and capital.

FTGIY HH TUT Yol o &< HEeetl sl cATedn Hia|

What is social action? Discuss in reference to the study of ideal types.

HTATTST TohaT T &2 31162 9T & GesT # fagTem R |

Discuss the relationship between religion and economy as elucidated by Max Weber.

Aoy e gar aftTd e 3R 3rdegaedr & g geaer I faager Hifer |

What rules have been set forth by Durkheim for the scientific study of society? Explain.

AT & d=ATToleh AT o TIT q@ie F &1 4T T &2 earear 1|

Discuss Durkheim's theory of suicide.
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SET A

1. Discuss the contributions of Marx and Durkheim to the Sociology of Work.

1. AT T T & A o GHTSITE § TRIE 9 741 61,

2. Critically examine the view that all industrial societies will eventually converge.

2. TH FIOHIVT 68 ST < (o THT SATNIE THIST iqq: Teh gf A0 & § qearad gf S,
3. What are the salient features of post-industrial society?
3. S-S TATS Al qe fFeruard #4752

4. Write an essay on alienation with special reference to emotional labour.

4. =tee-fawaar o2 us ey ford ST ST 91 & e g2 a2 sraria gvn

5. Explore hazardous aspects of workspaces and describe how people deal with risk.

5. HIAET & GALATE Tgall T w07 < 3T AU e [oh FATHE AT UH FHIHT o6 qeah STTEH o
w4 fAoed €.

6. Discuss the view that there is no dualism between formal and informal sectors in India.

6. TH IO 9T F=AT F¥ T AT | SHu=THen ¥ SR I=TF A1 19 e Gad18 A1 &.
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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper

Q1. Economic development is a multifaceted concept embodying not just income and its
growth, but also achievements on other fronts. Critically examine this statement. In this
context, discuss the relevance of the Human Development Index (HDI) as an indicator of

development.

ql.mﬁmwagmﬁmﬂwéﬁammﬁ?mﬁww
Ul §, dfed 31T AT & 3dfeual o 8y anfier sear &1 Rduacas & O
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Q2. Explain the concept of convergence in the context of the Solow growth model. How is

conditional convergence different from unconditional convergence?

92. Al gEf AlseT & el & A0 T ITURVT I HASIST| Gl fFraRor
SO TS e AT { oA §?

Q3. Assume that there are 10 people in an economy, numbered 1 to 10. Further assume that the
total income of this economy is $100 per day. For each of the three cases given below, calculate
the level of inequality as measured by the Gini Coefficient, and support it by drawing the
corresponding Lorenz curve.

Case A: The total income of the economy is shared equally by its population.



Case B: Individuals 8, 9 and 10 being the strongmen of the economy, appropriate 15% of the
income each, allocate 5% each to individuals 1, 2 and 3, and distribute the remaining 40%
equally among the remaining persons.

Case C: The strongest individual, 10, takes 50% of the income, and leaves it to 8 and 9 to
determine the other shares. Person 9 dominates 8 and takes 33% for himself, while person 8

takes 10%, and the other 7 individuals receive 1% each.

T 3. AT of [ Th 3NcgaeqT # 10 T &, 1 F 10 HT F&IT & | 36T A of foh 5q
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Q4. a) “Poverty must be seen as the deprivation of basic capabilities rather than merely as
insufficient incomes”. Discuss.

b) Discuss and explain the four criteria for inequality measurement.

T 4. U) "I I el AT T & T AAIET STATIN & 31T & & F @I a1
e | == X |
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Q5. Discuss the assertion that neither the state nor the market is uniformly successful in
managing natural resource systems. What, in your opinion, can be the right policy solution to

govern common property resources?
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Q6. The structure of government institutions and of the political processes are important
determinants of the level of corruption. Explain how they affect the level of corruption in a

nation.
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